N = 0l & At & Ml A

015 £ 2 5 LS TTALBRAALY L
SN BIALBDMYL
HE: FOIHAZLST JIHBY 25
Sl BTHSAL BBHM (29l & 2)
SA-EB - BAEH) - NRAY - BHES 0l & o p/E-F HIDE2
STANLBRIAYL 1,500,255 1,483,255 17,000
= 15,000 0 15,000
2 1,485,255 1,483,255 2,000
FOBZRASE BBy 25 740,851 725,851 15,000
= 15,000 0 15,000
2 725,851 725,851 0
TTHSAE SN 443,076 428,076 15,000
= 15,000 0 15,000
2 428,076 428,076 0
ITHSAL =5 110,000 95,000 15,000
= 15,000 0 15,000
2 95,000 95,000 0
401 N EHIL 2 THYI 110,000 95,000 5,000
= 15,000 0 15,000
2 95,000 95,000 0
01 Al 110,000 95,000 15,000
OZHEHLIAT BHAL SAAS (SR oo
) 15,000 0 15,000
= 15,000 0 15,000
MEFMEE 22 2= 132,944 132,944 0
AT 22 Ha 132,944 132,944 0
AT ey 132,944 132,944 0
206 T Z 1,500 14,500 3,000
R 1,500 14,500 3,000
SHET T 0 3,000 A3,000
405 THaHF St 5,700 2,700 3,000
01 U2 E 5,700 2,700 3,000
oZZX HMMI TY 800,008 +2CH 1,600 0 1,600
O £EJ 7Y 700,002 *2CH 1,400 0 1,400
s ozgas 571,310 569,310 2,000
gHsZASY 571,310 569,310 2,000
RVHSUH 571,310 569,310 2,000
201 2Bt 271,320 269,320 2,000
01 AR 22l 87,800 85,800 2,000
oszm2 2,000 10,000 2,000
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